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4m?(200L) | 149,994 6,846 41 91,718 | 58,276 364
Y—5—YRF A
LPG 6m2(300L) | 149,994 | 9,892 50 | 64,210 | 85,784 561
ABREKSE | 3m*(2000) | 149,994 | 6,045 36| 95473 | 54,521 390
am?(2000) | 110,395 | 6,846 41| 68420 41,975 310
V—=35—YRATLA
an  |@mAR 6m2(300L) | 110,395 | 9,892 50 | 48,167 | 62,228 478
AB#EkSE | 3m*2000) | 110,395 | 6,045 36| 70,268 | 40,127 332
am22000) | 59.211| 6,846 41| 38306 | 20,905 432
V=3—YATLA
T3 6m2(300L) | 59.211| 9,892 50 | 27,430 | 31,781 665
ABREKSE | 3mi2000) | 59,211 6,045 36| 37.688 | 21,522 461
am2(2000) | 133,325 | 6,601 45| 77,230 | 56,095 348
V—=35—YRTLA
LPG 6m2(300L) | 133,325 | 9,364 63| 52,224 81,101 529
AWBRiEKSE | 3m*(2000) | 133,325 | 5,849 40| 80,573 | 52,752 377
am22000) | 98,127 | 6,601 45| 57,750 | 40,376 297
V=3—=YATLA
3N | #@mhz 6m2(300L) | 98,127 | 9,364 63| 39,324 58,803 450
AWBmiEKSE | 3m*(2000) | 98,127 | 5,849 40| 59302 | 38,825 322
am?(2000) | 52,631| 6,601 45| 32,571 | 20,060 414
V—=5—YRAT LA
AT 6m*(300L) 52,631 | 9,364 63| 22,649 | 29,982 627
ABREKSE | 3m*2000) | 52,631 5,849 40| 31,807 | 20,824 446
am2(200L) | 89,986 | 5,556 56 | 43,181 46,805 284
Y—S5—YRFLh
LPG 6m2(300L) | 89,986 | 7,455 75| 25,771| 64,215 413
ABREASE | 3m*(2000) | 89,986 | 4,750 48| 47,142 | 42,844 307
am?(200L) | 66,229 | 5,556 56 | 32,655 | 33,574 242
Y—5—YRFLA
2N | @A 6m2(300L) | 66,229 | 7,455 75 | 19,766 | 46,464 352
ABREASE | 3m*(200L) | 66,229 | 4,750 48| 34,696 | 31,533 261
am?(200L) | 35,522 | 5,556 56 | 19,050 | 16,473 338
Y—5—YRF A
T3 6m2(300L) | 35,522 | 7,455 75| 12,003 | 23,519 490
AWBmiEkSE | 3m’(2000) | 35522 | 4,750 48| 18,609 | 16,913 362




